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14-5 Find the character of polarized light after passing in turn through (a) a half-wave plate with slow axis at 
[image: image1.wmf]°

45

；

    (b) a linear polarizer with transmission axis at 
[image: image2.wmf]°

45

；(c) a quarter-wave plate with slow axis horizontal. 

    Assume the original light to be linearly polarize vertically. Use the matrix approach and analyze the final 

    Jones vector to describe the product light.(Hint：First find the effect of the HWP alone on the incident light.)
Sol: 
[image: image3.wmf]Q

  the original light is linearly polarize vertically=
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     (a) a half-wave plate with slow axis at 
[image: image5.wmf]°
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     (b) a linear polarizer with transmission axis at 
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     (c) a quarter-wave plate with slow axis horizontal=
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 EMBED Equation.3  [image: image12.wmf]ú
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  ,so it is a right-circularly polarized light   
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